EAGRAROBREERT — 2 N— IBISH —F

202178248 (4) 1H&EE7H

m TVh# 37X #+#5%3m%tEt GBRE) (UFE) TE ‘ (Xfg] B ‘ [REmshE]  — |2 (B) 12000 B
[A&4£] 1 7 18,200,000 § ~ 2 7% :7,300,000 § 3 3&:4,600,000 ™ 4 3% :2,700,000 5 & :1,820,000 M
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
S > 4 o4 | K8 1:08.5 4-2 34.5|105.7 | 1 518 | WHERE (FR)
118l12| 7> bTx—Fzx 57.0 - o) | ITZXTYYI-var
&= RILRIIL B:F 914X Fy T TANAS
f 4 | EEEA 1:08.6 8-8 34.2104.8| 7 440 | ARHEN (BR)
EH7 Z7—ARrT7#xU% 55.0 (172) (-14) () ¥+Oy bT7—L
RiXTHANAN B:o—HFUF J—HrTr—LA
o4 | RERE 1:08.7 6-5 34.5[103.6| 5 508 | FILESHE (BXR)
31| H7FETI 55.0 (3/4) -2) JII%?E?(EK
LNZ—ka1—Z B:HTII1K N B4
— Ty ; st 7 | BEXE 1:08.9 10-8 34.4101.6| 9 484 | ERB— (BR)
] 3 Yo REZF7—H 57.0 (1 1/4) 42) e
R:F4—TA2NU b Bivv=>Ivq 3 SRS
SV R 44 | EEBZ 1:08.9 1-11 [ 34.3/101.6| 6 466 | BEAEX (i)
57|10 Fz TV =TV T 57.0 (75%) o | 8 JuTEF—45TLy KR
RixvyyUgdyk BFrFI-TyT BEAZ &Y K
4 4 | EERRK 1:08.9 2-2 35.0 [ 101.3| 10 | 456 |BERFME (i)
68|11 ZVv71— [B] 55.0 (NF) gy | R F7oxEN
L:2y)—rke—A—- B:ELTTUFTI-—a3> INHINH T 7 — LI
> N s B4 | AEER 1:08.9 6-5 34.7[101.4| 2 460 | AR (RR)
7155 *A1T>¥av3IEY 55.0 7€) ) |BAmE
LN=YIF4 BACSaINL—H =igsis
A~ . _ =
gl7lg|®Yavr7UTH i 5 E%I%THH 1.89).1 8-8 34.7] 9.3 | 3 4+522 ig;ﬂ (EH)
A:Frankel #£2:Restiadargent (62 Guy Pariente Hold
B 6 | BRI, 1:09.2 12-12 4. . 12 HOHRRE (BH)
9 8| 77777 — e 55.0 ! 89) 8.0 9.6 ig? (%) v—22
RiAAagLyy B:I757—Fv>7 FH XA
3 i it 6 | HEAA 1:09.4 4-5 35.4 ] 96.3 | 11 | 466 |fREEE— ()
10/5/6|®¥NV7Tx—X 55.0 (1 1/8) (1a) | EEIEE
RL:Z27)—>kb—A— B:AFIAIIA RE Ihe
; i o4 | HLUKsE 1:09.4 1-1 35.7] 9.6 | 8 440 | EERE— (FH)
11 2 F—41Y 55.0 (NF) (-2) BIFE—
A :War Command &:77>d—d— Bk e
- IRFEE . - FREBE (FXR)
1 NEESY LS i 5 it 1(.30/94.)6 2-2 35.8| 94.6 | 4 (4:); i
R:vNygLHT1 B4 aA9=—+ BRT7— L
@ 71 L
) 46.2-34.8
NA>Z24 L | 11.9-10.4-11.4-11.7-11.3-11.8
® I —F—EBIERL
13=3F=
230—F—
Fol=5r= 2(4,11) (6,12) (1,5) (7,9)3,10-8
40—F— | 2(4,11,12) (6,1,5) (3,7,9)10,8
[ N3
BB 12 300H 714K 7-12 950M ) 6-8 2,010M JEHE 1-7-12 5,310/
8 B 12 1609 1-12 600 B = 7-12 2,580M 3 E 12-7-1 22,4104
7 310 1-7 1,210 B H 12-7 3,090
1 250M

ARICOVWTRDTEEERROODE. TR LIV,




